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01 AP 22| d| 16,000 16,820 A 820
OZOHC HEEAHAIY 29 16,000
301 et A= 5,000 5,500 A 500
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OMEXNEZNA SSHEA 5,000
307 2Iz2to| A 5,500 5,500 0
01 e =t 5,500 5,500 0
OMEXNESA Q2 A2E5F2Y 5,500
KA HOHQITHEEAHAS (ST 25,082 24,498 584
J| 12,541
= 2,508
Al 10,033
101 2121 H] 23,582 22,998 584
J| 11,791
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OXSAMIIHMHATHE S HAAISA 23,582
J| 11,791
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= 2,358
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Al 9,433
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J| 1,250
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01 = LH o4 1l 2,500 2,500 0
OFRYEHY E=STWHMOISAIS 2,500
J| 1,250
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Al 1,000
307 21201 A 3,500 3,500 0
J| 1,750
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Al 1,400
01 222l 3,500 3,500 0
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Al 1,400
HEEESL2E 7,000 7,100 A 100
201 24l 5,000 4,000 1,000
01 At 2t 2l 5,000 4,000 1,000
oHgEsd 24 5,000
301 et a3z 1,000 2,100 A1,100
09 &AL HI B &S 1,000 2,100 A1,100
ouHgEs gs=2¢ 1,000
307 gl2tol & 1,000 1,000 0
01 222l 1,000 1,000 0
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